HPE_CIEF02-Zapfenempfindlichkeit Ymax(M)=1
I'F02,1M=B11XFo2,10)+B12VFo2, 1M +B13Zro2,1(A)
Byj 0,2105 0,8550 —0,0396\{570)
2,01 PO0O0: erozyl(x):23,67
Xro2,170,3616 Ygg2,1=0,3533
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HPE_CIEF02-Zapfenempfindlichkeit Yy, (A)=1
Meo2,10M)=B21X Foz, 1(A)+B22Y Foz, i(A)+B2aZro2,1(A)
By —0,4170 1,1772 0,0786 A\{545)
2,0 POO: ZI’ﬁFOZ'l()\):lB,SS
Xro2,1=0,3616 Yrgp, 1=0,3533
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HPE_CIEF02-Zapfenempfindlichkeit Yax(A)=1
SF02,1M)=B31X Foz,1(A)+Bazy Foz, 1(A) +Baazroz, 1(N)
Bsj 0,000 0,000 0,5168 At-445)
2,0 POO0: Z§F02,1()\):9'49
Xr02,1=0,3616 Yrgp, 1=0,3533
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
I'F02,dN)=B11XFo2 {A)+B12YFo2 {N)+B13Zro2 {A)

By 0,2105 0,8550 -0,0396\{570)
10[Ay, m =515, 575, 626 POO: 5T gy dA)=103,86
Tro2.dM m 2=2,25, 4,51, 2,2
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
Meo2 dA)=B21XFo2 M) +B22Y Foz M) +Boazroz {A)
By -0,4170 1,1772 0,0786 A{545)
10Ay , 72506, 545, 592 POO: ST gy {A)=81,37
ko2, dA1.m3=2,14, 4,29, 24
7.5
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,,=100
Sr02,dN)=B31XFo2, dN)+B32Y Foz dA)+B3azro {A)

Bs 0,000 0,000 0,5168 A(-445)
10TAy =419, 445, 477 POO: 35, {N)=41,65
Sro2.dMm =173, 3,48, 1,7
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HPE_CIEF02-Zapfenempfindlichkeit | j44(A)=1
Tro2,iM)=[B11XFo2,fA)*+B12Y Fo2, (M) +B1aZro2,i(M)]
Byj 0,2105 0,8559 —0,0396\{570)
200\ m 515, 575, 626 PO0: 3T £p d1)=103,86
Tro2dA m2=2.25, 4,51, 2,2
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HPE_CIEF02-Zapfenempfindlichkeit m4,(A)=1
Me2,(AN)=[B21X Fo2,n(A)+B22Y Foz, (M) +B23Zro2 o)
By -0,4170 1,1772° 0,0786 A¢545)
2.0y m 2506, 545, 592 P0O: ST gqp §A)=81,37
fﬁpozyg()\l,m’Q)ZZ,lk 4,29, 2 4

1y~ =~~~ ~"~"~""@@ -~ """~~~ =-----

P00

400 500 600 700

]

WellenlangeA/nm

CGN40-7A_P00

CGN40-8A_P00

CIEF02-Normspektralwerte Ymax(\)=1
Xro2,1M)=A11l Fo2, 10 +A12ME2 1N +A135F02,1(N)
Agj 1,9473 -1,4144 0,3647 A {570)
2,0 PO0: =X FOZ,l()‘):23'32
Xro2,1=0,3616 Yrgp, 1=0,3533
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CIEFO02-Normspektralwerte Ymax(A)=1

YFo2,10)=A21l Fo2, 1) +A20M 2, 1(A)+A23SF02,1(A)
A 0,6899 0,3483 0,000 A¢545)
2,01 P0O: 2y FOZ,l()\):22Y79

Xg02, 10,3616 Y0 10,3533
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CIEF02-Normspektralwerte Ymax(A\)=1
Zr02,1M=Az1l Fo2,1(N) +A32M 02, 1(A)+A33SF02,1(A)
Agj 0,000 0,000 1,9348 A{-445)
2,0 POO: ZZFOZ,l()‘):18137
Xro2,1=0,3616 Yrgp,1=0,3533
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CIEFO02-Normspektralwerte Yg,,=100
Xro2 dN=A11l Fo2 dN)+A12ME02, dN)+A13SF02, N)

Ay 1,9473° -1,4144 0,3647 A(570)
10 POO: 5% o2, 4A)=102,34

XF02,50,3617 Yrgp £°0,3534
7.5
50 -~~~ ~"~"~"~"~"=~"~"74 kK~~~ ~----
2,5

P00

0,0

400 500 600 700
WellenlangeA /nm

CGN41-3A_P00

CGN41-4A_P00

CIEF02-Normspektralwerte Yg,,=100
Yro2,dN)=A21l Foz dA)+A20MF02 SN +A235F02,4N)

Ay 0,6899 0,3483 0,000 A£545)
10 P00 5§ £o2 A)=100,00
Xr02,50,3617 Yigp 50,3534
7,9
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CIEFO02-Normspektralwerte Yg,,=100

Zpo2 fN)=Az1l Fo2 N)+A3aM o2 A)+A33SF02, 4N
Ag 0,000 0,000 19348 A-445)

10 P00: £Z g2 dA)=80,59
Xr02,6°0,3617 Yiop £0,3534
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CIEF02-Normspektralwerte Ymax(A\)=1
YF02,10)=A21! Foz, 1M +A2aMEo2, 10 +A23SF02,1(M)
Ay 0,6899 0,3483 0,000 A545)
2,0 POO: Zy F02,1()\):22'79
Yo=Vroz ) Xr02,70.3616 Yz, 70,3533
Y1=A21l Fo2,1)

Y2=A20ME02,1(A)
1= -----2-
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CIEFO02-Normspektralwerte Ymax(A)=1
YF02,10)=A21l Fo2,10)+A20M k02, 1M +A235F02,1(N)
Ay 0,6899 0,3483 0,000 A¢545)
P0O0: 2y FOZ,l()\):22’79
Xe02,170,3616 Yo, 1=0,3533
a=Yr02,1(Aa)/MEo2,1(Aa)

2,0]

Yo=Yroz,1)
Y1=A21l Foz,1A)

Y2=A20Mko2,10) ~-D=Yro2, 13a)/! Fo2,1(Aa)
Y =ay, by, 4" ®as.  Adaptation:
Y4=by -2y, ,"l \ As=570nm
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